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Attempt All questions. Show your working notes as part of the answer.
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(b) Given

(259 -y

below is the Trading and Profit & Loss Account of
year ended 31st March, 2013 ° :
particulars Rs. Particulars SESE
To Direct Materials 6,00,000 By Sales (3 lakh i) |
To Direct Wages 4,00,000 bty | i g
To Factory EXpenses 2,40,000 : | .
To Office Expenses 80,000
To Selling and Distribution Yot :
Expenses 1,60,000 -
To Net Profit 20,000 |
e e R
15,00,000 _
__-______-— -
verheads are

The normal output of the factory is 4,00,000 units. Factory ©

Rs. 1,20,000. Office expenses are fixed
expenses are fixed to the extent of Rs. 1,UY

Prepare
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( )2 5414

5 —eqred 4,00,000 2 ¥ HEHI F sufem
m%:mﬁa—éwmﬁwmam%. ﬁ;;),(:);'ﬁé::[
== 1,00,000 & T ot ¥ 3R 3w ofed €

'a'le‘a-ﬁ'ﬁ'Q:
(i) arTa Yie
(i) EETHH HYA |

Or (3MHT)
t from ‘Cost Centre’ ?

fRs. 3,47,000 as per their cost accounts
osed a net

2+4

*) Define cost unit. How is it differen
loss 0

financial accounts, however, discl
n was revealed as

ompany disclosed a net

h 31, 2013. The
ame period. The following informatio

f accounts :

w A manufacturing ¢
for the year ended Marc

of Rs. 5,10,000 for the s

loss
the figure of both the sets O

a result of scrutiny of
Rs.
Factory overheads under-absorbed 40,000
Administration overheads .over-absorbed 60,000
Depreciation charged in financial accounts 3,25.000
Depreciation recovered in cost accounts _ : 2,75.000
Interest on investment not included in cost accounts ‘ . 96,000
Income tax provided ' 54,000
Interest on loan in financial accounts o ‘ < 3 2,45,000
Transfer fee (credit in financial books) : © 24,000
Stores adjustment (credit in financial books) .' ; 14)'000
Dividend received o) 32,000 :
_ Prepare a statement showing reconciliation between the ﬁéure of net lossi‘aS‘rpel' cost '
scounts and the figure of net loss shown in the financial books. P P
| pPTO.
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. Fixed cost Rs- 4,00,”)

Selling price per unit Rs. 20
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( 664) R
®) @) aﬁ@qmoﬁlooiﬁzﬂﬁrﬁ?%?hgmaqﬁwwm
Y 2 F 6 A IR e e, o 810 7y

(if) ﬁ%@a@ﬁﬁﬁ%mwm%
AHE Hiir 3,200 e '

?Iﬁ'?mﬁa
el X@E amrd 259 wfy 99

@Wﬁmmlsoa
Or (319aT)

(x) Prepare the cost sheet to show the total cost of production
goods manufa

Ctured by a company for the month of July, 201
of sales : ;

Stock of raw materials 1-7-2012
Raw materials purchased

Stock of Raw I-naterials 31-7-2012
Direct Wages :

Depreciation on Plant

Loss on sale of a part of plant

&
Factory rent and rates

General Ex,

L/ - unt on
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(80

5414
3 wﬁmﬁﬁﬁﬁﬂmﬁiﬂﬁiﬁiﬁmm%lﬁmaﬁ
@wom%lmﬂmmﬁaﬁaﬂm%. G, 2012
mgmm@@ﬁﬁ'ﬁﬂﬁmﬁwmgﬁ,
3.
Wﬁmmﬁw@’f 9,600
srfem & FHAE h da 3,000
@ ®l HARd 1,000
Foet 3R qa gefs . 16,000
TG R e | 3,200
ged L A S il 6;400
SRl 10,400
e qdl S @ | | 8,000
STt AGE F o ST T A A4 hl G H 75% @) Wt 4 30
feq oot woE w9 R N 9 h T RO @M §1 HER R OA
ot fh, T fe A A 9 Hif Ak T FR T At
20% TN Afd wTN e 8 |
Section B (@IS W)
(@) Write a detailed note on abnormal gain in process costing. 6
P.T..
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(b) Prep

(i) Weighted avérage

) LIFO method. ook _ '
June I Opening balance 50 units o Rs. 3 pes
June 4  Issued 2 units A
june 8 Purchased 48 units at Rs. 4 P':r
June 9 Tssued 20 units | |

June 15 l;urchased 76 units iy | at Rs. 3 :

June 22 Recéiy;ad back ihto stores 19— umts out of 20

June 30 I_sf:;uecgi';,"l-ol ugita

] ¥ L oé"
are a stores ledger from the following on the basis i

(#1017 Y800 S

e L

T

N
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Or (319=)
sh between Perpetual Inventory System and Periodic Inventory S
m the following particulars of X Ltd. AT S
compute Machine Hour Rate :
st of Machine 1 -
nst: lation Charges ’lz'im
A thlpated life of the Machine 10 Sk
c
Residual value at the end of 10 years ;Oa(r);
ent and rates per annum 12,000
Insurance of the machine per annum_ ; 3.000
 Repairs and maintenance per annum 8.640
- Consumable stores per annum : 1,200
Total production services per annum ’ 1,080
Power cost is 5 units per working hour @ 40 paise per unit
Setting-up time (Non-productive) 400 hrs. per annum
There are 300 working days of eight hours in a year. 9

'_Ww@mmmm@mﬁmm\

B 1.14.800
o &3 & @ 5,400
£ gy g 10
o sERme Ted | 0
qen ¢ W@ @™ O
1 < w9 i
Sk Taw@d wa T 5 1:62‘:)%
T wf B 1,080

o S dand wfq ™
aaurav{haaﬁ‘{(%
gﬁa:rﬁsﬁasram mﬁuﬁaﬁ

e fen § wm S () b
@aﬁﬁsaﬁaﬁmﬂ‘im@ '_'
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(1244

(@) Distinguish between Fixed Budget and Flexible Budget.. :
(b) The cost of an article at a capacity level of 5,000 units is gi

Material Cost | i Rs. 25,000
Labour Cost Rs. 15,000

Power : {l Rs. 1,250,.‘”
Repairs and maintenance =~ Rs. 2,0004:%
Stores - R R 1,000 0SS
Inspection | Rs, 1500+ 48
Depreciation - _ 7 Rs. 10,000

Administration Overhead IR ' 000K
Selling Overhead |, . ~ Rs. 3,000

_ ‘ Rs. 62,750
Cost per unit = Rs. 12155

~ Find the unit cost of the product under each individual expel
4,000 units and 6,000 units. Make total cost column as

(@) W T AR T e § SR Ry ,
(®) 5000 IR F N TR W wH T F AT AL

et e, b
Y 15,000
IESSI

1,250
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y  What is ‘Cash

Material

Labour

Budget’ ? What are its advantages ?
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4,00,000 . %l%ﬂ%aﬁ'ﬁ*’mmmﬁ a
@ s 8 e T, 15,000 & ¥1 ABC feifiies s
s e w9 @ e 7 e T A
ﬁmaﬂtaﬁﬁ@ﬁmﬁﬁmwm%:

PR ' "Section C (v ’T)

(@) You are given the followmg information :

03
0 R

1
|

Year 2012

(i) Break
(i) - Profit v
(b)
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(0)

g @ 20 % WA ghe W W oS=1 W

The management proposes (o increase the production Y 3.000 yrcee o

. . 5 ’ units a

foreign market. It 1s estimated that the semi-variable oy cehlly { for‘b hy

But the product will be sold at Rs. 14 per unit in the foreign markey HYR%W
4 . ' e s &

additional capital expenditure will be incurred. The manageme OWeyy |

nt seeks your a4,
a cost accountant. What will you advise them 2 advice

smuen Frefafed geed & W ¥ .

fot ()
g8 2012 1,20,000 8,000
I8 2013 1,40,000 13,000
@ hifEY
(@) P/V IO

() - fog
(i) N9 Wik 1,80,000 & i foshl & T

@%@24,000@%3@@?@%[%?@@%@
* Ud A E T

: z.

et o] 120,000

v Tl 84,000

fedt safer ' 48,000

refufiad U= 28,000

T U ‘ | 80,000

o A g 3,60,000 ¢ o

y

: s ‘-f". P
: l {8
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( 16 )

Y F TR IqRA H 3,000 G TG 3’
m@ﬁlm%ﬁa&wﬁaﬁwﬁaﬂlomt 33*
TSR F 14 . uﬁrgﬁzmmlmﬁraﬂé

What do you mean by ‘Labour Turnover’ 9 What are tile effec

What m
easures can the management take to minimize labour

Write short notes on any three of the following

(0 Bregk—evegl chart
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